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Max_Delta
Max iter
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userdef fun.m

function out var = userdef fun(in var);

out var = cos(in var).”(2);

R969305 56 50pd9dl 9dMs30
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fixedpoint solver.m

function out = fixedpoint solver (Xinit,Max iter,Max Delta);
x1l = Xinit;

yl = userdef fun(x1l);

x2 = yl;

y2 = userdef fun(x2);

X3 = y2;

% First iteration complete
Num iter = 1;

while (abs(x2-x1)>Max Delta) && (Num iter<Max iter)

x1l = x3;

x2 = userdef fun(x1l);

x3 = userdef fun(x2);

Num iter = Num iter + 1;
end

out = x3;
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Xinit = 0.1; Max Delta = le-10;
Max iter out

10 0.546457502843768
20 0.603353388813703
30 0.625346578274696
40 0.634654270190017
50 0.638661592769074
100 0.64166802429984¢6
le+3 0.641714370826628
let+4 0.641714370826628
le+5 0.641714370826628
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(Newton-Raphson method)
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I.{I!’.’) — f{m'ﬁ'j e {:r.’ = .’!’.'.”xjfj{.'!’.’.”_j = 0,
3063900 GHM9635305 (BHgowrm®ol 95 360030);

099030 0¢)geoEos:
Tp+l = Tp + h-n.-_ By = _.f{mnj/f#{m-n.j-

59mbablibo:
h,| <o



SLEAHMMB0DB0IOL 5TMEBIdIOL FMIE0Mqds -1 / 50, 0993Bsdg

©@9dgos 3 /3. 6

3589¢C0M0:

flz) = (z/2)? —sinz = 0
f'(x) = /2 — cosz,

S 1.8

Xn
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1.800000000000
1.945357812631
1.933825794225
1.933753765643
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0.015436106659
0.000095223283
0.000000003722

1.338543359427
1.322020778469
1.321917429113

-0.145357812631
0.011532018406
0.000072028582
0.000000002816
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d0b9d309 + boEMbob dgmmo
bsGyobo 0bEgHzsmo: @ < b, 3009350 fla) f(b) <0.
1 Bobadgoob ogsgos: @ = T, U = b g5 @' = a. b = & s Fla') F(B) < 0.

2. 6orEmbol o@geogos: < — T T &)/ ()

0930 a<z<b: X =z

Ubgs 998mbggzsdo: x=(a+b)/2

z € |a,b]
b—z=b—z+ flz)/f(z) >0
z—a=x—a—Ffz)/F (2} >0.

) f(z) > 0. (b—z)f'(z) > =f(z) and (z-—a)f'(z) > f(z).

®) fllxz) <0 b—a)f'(x) < —f(z) and (z-—a)f'(z) < f(x).
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o = Lo ay=. |
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f(z*) = 0.
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03039m X=tan(x) sbEHmgdoL PO BJLZGVO;
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r=1—e2* (1)
zln(z) —1=0 (2)



